
0,96  x  10000   =  669,27  x  1000   =  

755,794  x  1000   =  66,787  x  10   =  

410,04  x  10000   =  747,877  x  100   =  

939,51  x  100   =  629,43  x  10   =  

748,868  x  100   =  78,62  x  10   =  

870,74  x  1000   =  95,259  x  10   =  

4,968  x  10   =  3,09  x  10   =  

96,222  x  100   =  97,16  x  10000   =  

93,7  x  10   =  646,55  x  10   =  

92,33  x  10000   =  778,871  x  10   =  

6,694  x  1000   =  716,21  x  100   =  

743,36  x  10000   =  54,491  x  100   =  

2,17  x  100   =  258,83  x  10   =  

46,694  x  10   =  40,374  x  100   =  

86,671  x  10000   =  337,04  x  1000   =  

327,453  x  100   =  51,12  x  10   =  

61,27  x  1000   =  52,43  x  1000   =  

504,29  x  100   =  92,819  x  10   =  

655,225  x  10   =  32,66  x  100   =  

763,775  x  10   =  470,31  x  10   =  



0,96  x  10000   =  9600 669,27  x  1000   =  669270

755,794  x  1000   =  755794 66,787  x  10   =  667,87

410,04  x  10000   =  4100400 747,877  x  100   =  74787,7

939,51  x  100   =  93951 629,43  x  10   =  6294,3

748,868  x  100   =  74886,8 78,62  x  10   =  786,2

870,74  x  1000   =  870740 95,259  x  10   =  952,59

4,968  x  10   =  49,68 3,09  x  10   =  30,9

96,222  x  100   =  9622,2 97,16  x  10000   =  971600

93,7  x  10   =  937 646,55  x  10   =  6465,5

92,33  x  10000   =  923300 778,871  x  10   =  7788,71

6,694  x  1000   =  6694 716,21  x  100   =  71621

743,36  x  10000   =  7433600 54,491  x  100   =  5449,1

2,17  x  100   =  217 258,83  x  10   =  2588,3

46,694  x  10   =  466,94 40,374  x  100   =  4037,4

86,671  x  10000   =  866710 337,04  x  1000   =  337040

327,453  x  100   =  32745,3 51,12  x  10   =  511,2

61,27  x  1000   =  61270 52,43  x  1000   =  52430

504,29  x  100   =  50429 92,819  x  10   =  928,19

655,225  x  10   =  6552,25 32,66  x  100   =  3266

763,775  x  10   =  7637,75 470,31  x  10   =  4703,1


